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HUMNCJIDJMIH 3ACAT JAPT'BIH JIDPII/I3X
BUEWIH TAMI/IP CTIOPTBIH XOPOOHBI

2001 ommt © 3 pyraap dyraap 7% Y naanbaarap xor
‘4‘ capul £ 3 =t opop

ToMIIR5H ABYYHAX TyXai.

TYIMAAX Hb:

Har. YnaauOaaTap XoTHH 200 OHH WATPHH HACAHT
XyYporunuitH aBapra manrapyynax ToMussHE#T 2000 OHH 3-p
® capHH I5-2I-HH enpyymdm XYIIC, Tanaxc maTpHH KAIYT
AByyYACyTai.

Xoép., ToMmuasHE# Tauup9Yuan mMyYTYnUiH WarTHAAL 30pAynaH
173000 TeTrperufir CIOPTHH apra X5ME99HIE 3apmraac rapraxur

v HA-00 ¥. [5m9HCOMHOM-I 36BmeepcYIsii.
-
TypaB. Tomusssuit TecBuiit HeTmYIre3p, myyvjrunmuith Oypsn-—
I9XYYHR#AT XOo€pmyTaap xaBcpanTaap Tyc Tyc GaTancyrail.
JIlepeB. ToMIIBOHEAT Y3971 CypTan 30XUOH CafiryynanTuH
< OHIED XDMKDOHI ABYYNAXHD MopramunTsH C.IIYpoBIopRUAL
naanracyrait.
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TﬂLondhuﬁH Bacar JapriH IBpraisx
~, #ffH TaMEp CTODTHH XOPOOHH JapTHH
. “.TPOT TymaanHH HOSTHAYTS3D

vxsommacpa?w.

or, TouupdHuit Tecen

a/ TaMmupymuH maTHan

I-p Gailp 3 x 6000 Ter = IB000 Ter
2-p Oaitp 83 x 5000 Ter = I5000 Ter
3-p Gaiip 3 x 4000 Ter = I2000 Ter

oyrm = 45000 Ter
6/ Myyrummity marTHAan

7 x 7 x 2000 Tor = 98000 Ter
B/ BafipEu xenc 30000 Ter

Tnftr xyH = I72000 Ter




w

g5

Tcpanuitd Bacar JlappHH ISPTSISX
1 ik TAaMUp CUOPTHH XOPOOHH
TOOT TYWpanHH XO&pIyTeap

f < 2 :

Har, ToMugsHuft myyramu#in SyposamsxyyH

I. Jxarea ync e/myyre  BTCYT
2. Iy sBraB yac u/6 CBI
2. BymwuHpaM ync myyry qn
4. Copianar ync =" BTl
5. Baspmaa ync - B_ll
6. TurmumeypoH ync =" CEI
7. Baapcaitxan yac =" Tanaxc




